Summary Plots(Run #2721) 0: Layers with hits
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Number of U/X strips fired

Number of U/X clusters

Summary Plots(Run #2721) 1: Strip and cluster multiplicities
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Su?mf\r Plots(Run #2721) 2: Cluster size, timing, ADC correlgtions
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Summary Plots(Run #2721) 3: Strip and cluster ADC distributions and correlations
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Summary Plots(Run #2721) 4: Tracking stat(i}stics
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Summary Plots(Run #2721) 5: Tracking residuals (inclusive)
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Summary Plots(Run #2721) 6: Tracking residuals (exclusive)
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Summary Plots(Run #2721) 7: Module 0 (Pol-R LO GO) efficiencies
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| Entries 156
- Mean -0.0007673
7 B Std Dev 0.1482
6l
L | L L L | L L L | L
-0.2 0 0.2
x(m)

x vs y of hits on good tracks

y (m)

Efficiency

200

Track-based efficiency vs y, module m0

Entries 187

Mean  0.0009245

Std Dev 0.1757

|

I Efficiency = (61.28 + 0.95) %

4001

Module 0 Average

N. did hit = 1622
N. should hit = 2647

x(m)

200F

150f

[ T
100f T H 4

50}

Track-based efficiency vs x and y, module m0

y(m)

Module 0 Average

[ Efficiency =(61.28 + 0.95) %
N. did hit = 1622

N. should hit = 2647

1.




Efficiency

Summary Plots(Run #2721) 8: Module 1 (Pol-R LO G1) efficiencies
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Efficiency

Summary Plots(Run #2721) 9: Module 2 (Pol-R L0 G2) efficiencies

Track-based efficiency vs x, module m2
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Efficiency

Summary Plots(Run #2721) 10: Module 3 (Pol-R LO G3) efficiencies
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Summary Plots(Run #2721) 11: Module 4 (Pol-R L1 GO) efficiencies
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Efficiency

Summary Plots(Run #2721) 12: Module 5 (Pol-R L1 G1) efficiencies
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Summary Plots(Run #2721) 13: Module 6 (Pol-R L1 G2) efficiencies
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Efficiency

Summary Plots(Run #2721) 14: Module 7 (Pol-R L1 G3) efficiencies
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Summary Plots(Run #2721) 15: Module 8 (Inline-L1 GO) efficiencies
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Efficiency

Summary Plots(Run #2721) 16:

Track-based efficiency vs x, module m9
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Summary Plots(Run #2721) 17: Module 10 (Inline-L1 G2) efficiencies
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Summary Plots(Run #2721) 18: Module 11 (Inline-L1 G3) efficiencies

Track-based efficiency vs x, module m11
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Summary Plots(Run #2721) 19: Module 12 (Inline-L2 GO) efficiencies
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Summary Plots(Run #2721) 20:

Track-based efficiency vs x, module m13
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Summary Plots(Run #2721) 21: Module 14 (Inline-L2 G2) efficiencies
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Summary Plots(Run #2721) 22:

Track-based efficiency vs x, module m15
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Efficiency

Summary Plots(Run #2721) 23: Module 16 (Inline-L3 GO) efficiencies
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Summary Plots(Run #2721) 24: Module 17 (Inline-L3 G1) efficiencies
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Summary Plots(Run #2721) 25: Module 18 (Inline-L3 G2) efficiencies

Track-based efficiency vs x, module m18

- Entries 237

Mean —-0.0007358

Std Dev 0.1497

i T T
-0.2 0 0.2

X(m)

x vs y of hits on good tracks

-0.2 0 0.2
y (m)

Efficiency

8.5

Track-based efficiency vs y, module m18

I Entries 282
I Mean  -0.000422
| StdDev  0.1804
A B P SR
-0.2 0 0.2
y(m)
3
x10

- Module 18 Average
I Efficiency =(91.46 + 0.08) %
N. did hit = 120997

= N. should hit = 132288

e ™ ]

R

L

Xx(m)

Track-based efficiency vs x and y, module m18

y(m)

_><1O3

B Module 18 Average
L Efficiency =(91.46 + 0.08) %
N. did hit = 120997

| N.should hit = 132288




X (m)

Efficiency

Summary Plots(Run #2721) 26: Module 19 (Inline-L3 G3) efficiencies
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Summary Plots(Run #2721) 27: Module 20 (Inline-L4 GO) efficiencies
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Summary Plots(Run #2721) 28: Module 21 (Inline-L4 G1) efficiencies

Track-based efficiency vs y, module m21
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Summary Plots(Run #2721) 29:

Track-based efficiency vs x, module m22
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Summary Plots(Run #2721) 30: Module 23 (Inline-L4 G3) efficiencies

Track-based efficiency vs x, module m23
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Summary Plots(Run #2721) 31: Module 24 (Inline-L5 GO) efficiencies

Track-based efficiency vs y, module m24

Entries 275

Mean -0.002307

StdDev  0.1788

x10°

B Module 24 Average
Efficiency = (89.77 + 0.08) %
N. did hit = 128083

N. should hit = 142677
' —

S

Xx(m)

Track-based efficiency vs x and y, module m24

y(m)

_><1O3

| Module 24 Average

I Efficiency =(89.77 + 0.08) %
i N. did hit = 128083

N. should hit = 142677

el




X (m)

Efficiency

Summary Plots(Run #2721) 32:

Track-based efficiency vs x, module m25
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Summary Plots(Run #2721) 33: Module 26 (Inline-L5 G2) efficiencies

Track-based efficiency vs x, module m26
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Summary Plots(Run #2721) 34: Module 27 (Inline-L5 G3) efficiencies

Track-based efficiency vs x, module m27
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Summary Plots(Run #2721) 35: Module 28 (Inline-L6 GO) efficiencies

Track-based efficiency vs x, module m28
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Summary Plots(Run #2721) 36: Module 29 (Inline-L6 G1) efficiencies

Track-based efficiency vs x, module m29 Track-based efficiency vs y, module m29 Track-based efficiency vs x and y, module m29
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Summary Plots(Run #2721) 37: Module 30 (Inline-L6 G2) efficiencies

Track-based efficiency vs x, module m30
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Summary Plots(Run #2721) 38: Module 31 (Inline-L6 G3) efficiencies

Track-based efficiency vs x, module m31 Track-based efficiency vs y, module m31 Track-based efficiency vs x and y, module m31
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Summary Plots(Run #2721) 39: Pol-R L1 (Uva) efficiencies

track-based efficiency vs x (m), averaged over y
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Summary Plots(Run #2721) 40:

track-based efficiency vs x (m), averaged over y
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Summary Plots(Run #2721) 41: Inline-L4 (UVa) efficiencies

track-based efficiency vs x (m), averaged over y
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Summary Plots(Run #2721) 42: Inline-L2 (UVa) efficiencies
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g | Entries 914 gg__ Entries 270 g
'%‘j Mean 003162 %‘j | ﬂ"_,_lfl_"f|_|'|_l'" Mean 0006417
Std Dev  0.6053 I StdDev  0.1807
8 8
6 i
L 6l-
q+ I L
v by v by by |l PR I TR TR R NN TR T TR N SR
-1 -0.5 0 0.5 x(n% -0.2 0 0.2 ym)
x vs y of hits on good tracks (m)
x10° x10°
| Layer 3 Average I Layer 3 Average
10+ Efficiency = (86.87 + 0.05) % 30'_ Efficiency = (86.87 + 0.05) %
N. did hit = 399701 F N. did hit = 399701
N. should hit = 460094 I N. should hit = 460094
.1 I IJ T
Inf T 200 ey
5_ . L .
10r
O v b v by vy by G-uluuuluuulu
-1 05 O 0.5 1 -0.2 0 0.2

x(m) y(m)



x(m)

efficiency

Summary Plots(Run #2721) 43: Inline-L3 (UVa) efficiencies

track-based efficiency vs x (m), averaged over y
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Summary Plots(Run #2721) 44:

track-based efficiency vs x (m), averaged over y
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Summary Plots(Run #2721) 45: Inline-L5 (UVa) efficiencies
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Summary Plots(Run #2721) 46:

track-based efficiency vs x (m), averaged over y
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Summary Plots(Run #2721) 47: Module average Efficiencies
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Summary Plots(Run #2721) 48: Layer hit maps on good tracks
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